Accessories RA

Order number 50486391 Order number 50486392
Net weight 0.037 kg Net weight 0.02 kg

30
20 £0.02
4
O
| P2 S
=< s imy <+ 22
N +H| ™
= 7
M~ N
T
o |
P2 P1 S B34 (2X) ©5.5/6 (2x)
= B : A D5 H7/1.3 (2X)
h ~ S ‘ v -
M5/4.5 (2x) | o
|
OTHIM.6 (2%) |
M4 (4 6.5/3.5 (4
) £6.5/35 (4 G4HTAA (2%)
©6.5/4.5 (2X) $2.9 (2x)
i ¢ +
\‘%ﬁ Q f\f)
ol &/
255 1O &
3K bl %}
), =
&
20 £0.02 é =y
30 £0.02 E
40 0
S8
Inlcuded in the delivery Inlcuded in the delivery
(Catalogue HT accessories) (Catalogue HT accessories)
= 2x Mounting screw M3x10 = 2x Mounting screw M3x12
= 2x Centering bushing @5x2.5 = 2x Centering bushing @5x2.5

= 2x O-ring 6x1 mm

Handling technology HT components gripping/turning afag.com



Accessories RA

Order number 50486393
Net weight 0.022 kg
30
20 +0.02
4
N
Bl 81 =
\®, ~ 3 8
o
P AL [©) 3
7 3.4 (2%) 7 6.5/5.4 (2x)
® 5 HTM.3 (2x)
| o~
1 ~
@5 H71.3 (2%)
0 6.5/4.5 (2x) 034 (2x)
|
& (A
P2
S &)
\’
10 S
2

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Mounting screw M3x12

= 2x Centering bushing @5x2.5
= 2x O-ring 8x1 mm

afag.com

Order number 50486394
Net weight 0.025 kg
30
20 +0.02
4
178\
2l ;s
rJ Y4 < oo
P1 7 +Hi
) S
@34 (2x) @715/54 (2x)
@5HTN.3 (2x)
| N
‘ ~

O 7 HTM.6 (2X)

0 6.5/4.5 (2x) 045 (2x)
@ (\\
P1
@ P2
XQ@
n)Q 7,

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Mounting screw M3x12

= 2x Centering bushing @5x2.5
= 2x O-ring 10x1 mm

Handling technology HT components gripping/turning



Accessories RA

Order number 50488105 50488104
Net weight 0.24 kg 0.48 kg
Cable @ 5.6 mm 5.6 mm
Min. bending radii 75 mm 75 mm
Material PUR PUR
A 5m 10m
i |
m i H ( C _ _ =
Afsiiiii > —
é | 35 | 1=BU 4 2
| 2=BK OO
%k 3=BN 310 o O/
4=WH N
5=GY 5
Order number 50488107 50488106
Net weight 0.24 kg 0.48 kg
Cable @ 5.6 mm 5.6 mm
Min. bending radii 75 mm 75 mm
Material PUR PUR
A 5m 10m
| A P
E ﬂ [l | ( e
E Ul Ui )Sf - ————
>
) 28 1=BU
\ 2=BK
_ 3=BN
‘ 4=WH
5=GY

3 Handling technology HT components gripping/turning

afag.com



Accessories RA

Order number 50488108
Net weight 0.06 kg
Cable @ 5.6 mm
Min. bending radii 75 mm
Material PUR
A Tm
A

— —

= e ————— [ |E

=1 -

28

Order number 50488109
Net weight 0.06 kg
Cable @ 5.6 mm
Min. bending radii 75 mm
Material PUR
A Tm

‘ A

L qUU q - q - = I =

i ) 1 =
s

M8x1

afag.com Handling technology HT components gripping/turning



Accessories RA

Order number

Net weight
Cable @
Min. bending radii

Material
A

50488110

0.06 kg
5.6 mm
75 mm
PUR
Tm

35 | 4
M8x1

Order number 50488111
Net weight 0.06 kg
Cable @ 5.6 mm
Min. bending radii 75 mm
Material PUR
A Tm

| —

S —— IR

M8x1

5 Handling technology HT components gripping/turning

41

M8x1

afag.com



Accessories RA

Order number 50488112
Net weight 0.01 kg
22 ‘ 35 ‘
J ‘ ‘ ?Zj 4
V77 Ly
o (€ ] O
= ! s\ o
| O
12 2
1
M8x1 ‘ M8x1
E E ! L 1=BU
I@l g sy
[&] O -
oo g 4 4 8 -
- 3 | 5 4=WH
(&) (&)
2 T R
Qo 1 2 3 4 5 Qo
‘0M male connector

afag.com Handling technology HT components gripping/turning 6





